
 
  

   
   

   

     
 

   

 
   

 
   

     
   

     
    

     
   

  

     
   

  

RedGum GX200 DELUXE Lifter-Splitter 
Illustrated Parts Listing (IPL)
Last updated 10/07/2024





RedGum Deluxe Lifter-Splitter

Ref No. Part No. Description Qty
1 ACHN1124 BOLT, M14 X 1.5 2
2 ARGN178 WASHER M14 4
3 ACHN1263 HYDRAULIC HOSE (VALVE-CYLINDER) 1
4 ACHN0348 CYLINDER 1
5 ACHN1122 CONNECTOR, VALVE A 1
6 ACHN0347 CONTROL VALVE 2
7 ACHN1353 HOSE, HYDRAULIC 1
8 ARGN177 O RING 22 X 2.4 1
9 ACHN1166 CONNECTOR, ANGLE 1

10 ACHN1153 SCREW M8 X 10 8
11 ACHN1165 PLATE, CONTROL VALVE 1
12 ARGN181 HYDRAULIC HOSE 1
13 AENN3912 COTTER PIN 5 X 50 1
14 ACHN1117 PIN, WEDGE 1
15 ACHN1110 BOLT HEX M8 X 25 5
16 ACHN1129 NUT HEX M8 1
17 ACHN1139 JOINT, PISTON ROD 1
18 ACHN1111 SCREW M12 X 55 10
19 ACHN1257 WEDGE SLIDE 1
20 ARGN034 KEEPER SPACER 2
21 ARGN147 WASHER FLAT THIN M12 X 25 33
22 ACHN1135 WASHER LOCK SPRING M12 10
23 ACHN1113 NUT HEX, THICK M12 10
24 ACHN1169 FRAME, LOG CRADLE 1
25 ARGN182 HOSE 1
26 AENN3928 O RING 18 X 2.4 2
27 ARGN171 CONNECTOR, RIGHT ANGLE JOINT 2
28 ARGN183 CONNECTING FRAME 1
29 ARGN176 CONNECTOR, STRAIGHT JOINT 2
30 AENN3860 O RING 10 X 2.4 4
31 AENN3853 BOLT HEX M12 X 35 6
32 AENN3849 NYLON LOCK NUT M12 23
33 ARGN128 HITCH PIN 1
34 ARGN130 REAR SUPPORT LEG 1
35 ARGN105 BEAM 1
36 ACHN1114 WASHER LOCK SPRING M18 4
37 ACHN1115 WASHER FLAT M18 4
38 ACHN1116 NUT HEX M18 4
39 AENN3855 BOLT HEX M12 X 45 13
40 ACHN1106 BOLT, HEX M12 X 90 1
41 ACHN1107 SAFETY CHAIN W/ HOOK 2
42 ARGN066 TOW COUPLING 1
43 ACHN1152 BOLT M12 X 130 2
44 ARGN184 DRAW BAR 1
45 ACHN1108 SNAP RING 1
46 ARGN057 HANDLE, JOCKEY WHEEL 1
47 ARGN146 BUSHING, JOCKEY WHEEL HANDLE 1



RedGum Deluxe Lifter-Splitter

48 ARGN180 O RING 16 X 2.4 1
49 ARGN168 BUSHING, OUTER 1
50 AENN3929 NUT NYLOCK M6 1
51 AENN3852 BOLT HEX M6 X 60 1
52 AENN3921 BALL BEARING, THRUST 1
53 ARGN185 PIN, ROUND 1
54 ARGN175 LIFT SCREW 1
55 ARGN150 LIFT TUBE 1
56 ACHN1100 Nylon Lock Nut M10 10
57 ACHN1119 WASHER FLAT M10 X 20 11
58 ARGN040 CASTOR, JOCKEY 1
59 ACHN1155 BOLT HEX M10 X 30 4
60 ACHN1096 SPRING 1.5 X 40MM 1
61 ACHN1118 COTTER PIN 4 X 40 1
62 ACHN1098 SAFETY PIN 1
63 ARGN164 CONNECTOR OIL RETURN 1
64 ACHN1020 FILTER, HYDRAULIC OIL, SPIN-ON CARTRIDGE 1
65 AENN3861 O RING 20 X 2.4 2
66 ACHN1142 OIL BOLT 1
67 ARGN007 OIL TANK, DELUXE & DELUXE LIFTER 1
68 ARGN174 HOSE, LIFTER 2
69 ARGN170 CONNECTOR, STRAIGHT JOINT 1
70 ARGN062 LIFT CYLINDER 1
71 ARGN187 CONNECTOR, RIGHT ANGLE JOINT 1
72 ARGN188 PISTON CONNECTOR 1
73 AENN3938 BOLT HEX M10 X 60 1
74 AENN3912 COTTER PIN 5 X 50 2
75 ARGN190 WASHER FLAT M25 X 45 2
76 ARGN191 SHAFT, LIFTING TABLE 1
77 ARGN132 R PIN 55 X 3 2
78 ARGN063 CONNECTING FRAME 1
79 ARGN192 RETAINING PIN M14 X 40 1
80 ARGN189 BOLT HEX M12 X 80, PARTIAL THREAD 1
81 ARGN193 LIFT ARM 1
82 ARGN194 LIFTING TABLE 1
83 ARGN043 PLUG, DRAIN 1
84 ARGN145 HEX BOLT M8 X 70 4
85 ACHN1163 FILTER, INNER 1
86 AENN3902 O RING 75 X 2.4 1
87 AENN3901 O RING 80 X 2.4 1
88 ACHN0359 FLANGE 1
89 ACHN1127 WASHER FLAT M6 6
90 AENN3850 WASHER LOCK SPRING M6 6
91 ACHN1156 BOLT HEX M6 X 20 6
92 ARGN149 BOLT HEX M10 X 20 2
93 ACHN1101 WASHER LOCK SPRING  M10 2
94 ARGN116 BOLT HEX M10 X 25 4

95 ARGN129 FENDER (PAIR) 2



RedGum Deluxe Lifter-Splitter

96 ACHN1133 WHEEL 2
97 ARGN148 WASHER FLAT M20 2
98 AENN3904 COTTER PIN 4 X 45 2
99 ACHN1144 NUT SLOTTED M20 X 1.5 2

100 ACHN1164 AXLE CAP 2
101 UENN0032 HONDA GX200 (RG) ENGINE (UT2QXD1) 1
102 ARGN042 RUBBER MOUNT, SET OF 4PCS 4
103 ACHN1120 WASHER FLAT ENG MTG M8 X 40 4
104 ACHN1160 BUSHING 1
105 AENN3899 FLAT KEY 5 X 5 X 25 1
106 ACHN0410 CONNECTOR, ENGINE 1
107 AENN3897 BOLT HEX M5 X 10 4
108 ARGN061 COVER, PUMP 1
109 ACHN1159 STAND GEAR PUMP 1
110 ACHN0409 CONNECTOR, GEAR PUMP 1
111 AENN3900 GRUB SCREW M6 X 10 1
112 ACHN1151 BOLT HEX M8 X 30 4
113 ARGN058 CONNECTOR, GEAR PUMP 1
114 ACHN0352 GEAR PUMP 1
115 ACHN1140 CLAMP, HOSE 2
116 ARGN140 HOSE, CLEAR 1
117 ACHN1145 FLAT KEY 3 X 3 X 25 1
118 ACHN0404 CONNECTOR, STRAIGHT JOINT 1
119 ACHN0405 CONNECTOR, CYLINDER 1


	Raghav Sethi - RedGum IPLs Fix - RedGum Deluxe Lifter-Splitter (1)
	RedGum-GX200-DELUXE-Log-Splitter-IPL-04072024
	RedGum-GX200-DELUXE-Log-Splitter-IPL-20062024 (1)
	Raghav Sethi - RedGum IPLs Fix - RedGum Deluxe Log Splitter (1)


